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pxq20000 (p x g 2 way contingency table)

pxqO0 u=(uj), uj € No.

4 7
D'“_(32 5>

000000000 (oo0ooooooooo
oo 4 7
oo 32 5
(,)) 00000 05, > 0;=1. [uj=>u; 0OO.
lu D000
vO0Ooooono :MH“

u!
000 6" =116, u! = uy!.
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dooooooooooaod

000000000 D0O00000D0D0O0000
oo 4 7 pr=11
oo 32 5 3?2 =37
f1 =36 By =12
00 f,00 g 00000,
_Jul .
v000o0o0no _me /Z(3,0)
Z(8,0) = > 11l gu
’ u!

i000=p4,j000=3000 u

(11 0 (47 /(0 11
“=\los 12 )" =325 ) "3 1)

i000=4,j000=4000 v000000.

q p
Zu,j:ﬁl7i:1,...,p, Zuij:ﬁj’jzl,.”’q
Jj=1 i=1

oooo (oooo) go0o0oboO0OO0O0OO0OOOO0OO0OO0OO0



2x2000 A:( 1
0

o
~ oo
o
o
~
>
=
S oo
NN =S
[N T
~
Il
//
DD
[ )
~—

0.8 =(37,36,12)7.

A=(a;)0 dxnO0O. aj € Ng. tankA=d. B € NZ. ue N,

8 € Rg.
CHIEID S

Au=p,ueNg

(0000)AD00000000 (normalizing constant), A-0 O
oooo.
Av=p300000000 w00D00000 %/2(8,9).

ul
00 u = ug1, up = u1p, U3 = U1, Ug = U2, 01 = 011, 02 = 012, 03 = 091, 04 = u2g,

B =p%p3,=(0000000 B),8; =(0000000 B,)000000000000000.
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Fisher's MLE

000bOo zoOoooooooooo.

O0: "“000 w00 00000, Fisher 00O OO (Fisher's
maximal likelihood estimation, MLE) O, %/Z(B,G)DDDDDD
0 O0O0DOOODO.

00 (DooOooon)

00000000 random variable U; 0000 E[U;] = E (OO
0D ¢000)069%/z0000.

0. U;0000 0000 Laypuengui(u 000000),
ooo,

Zu,eu/”' ZZaa 6 /ul = ea > 0%/ul
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OO0 (Doooooo)

6 O Fisher's MLEOD O 6 0 E(0) =6;5%5/Z=v; 0000,

Proof. 00000000 %/2(3,) 0000000

Y uiloghi—logu! —logZ OO0 FOOOO.OOOOOO @
OF __ uj 0Z/00; - 0Z/886;

0,88 =220 —0. 000, y = 6,222

O0:00000000000007

goood

E:R%, 30— (E(0) €R"
2000 A0 i0D000D00O0D00O0.

Ei(0) = E(61t™,...,0,t*) 0 OO0 teRY, 00000000,

E:RT,Y~RL,/(ADDODO)>60~ E@B)C Ps
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0000000 PsODOO

Pg={ec R"|Ae =(,e > 0}
0011
A=11 01 0
01 01

010

dF
E{ =11 —x—/F F =-F(—-12,—-11, 26; = —.
1 de/ ,F(x) =2F1 (—12, ,26; x), x 020

0<e <11

e, 63,0 Ae=30000 ¢ 00000. 000
es=0h—e,ea=01—Fte,e=0~-0+0F—e

oooo (oooo) go0o0oboO0OO0O0OO0OOOO0OO0OO0OO0



ooooogad

Theorem ([T, 2014])

dimconv{e € Ng|Ae=(} =n—d 00 ECOOO.DOOO
ue Pg 000, Fisher's MLEO € R, 0 AOD OO modulo 00
oooooo.

0.2x3000.

000000000 000000000000 2000000
oo Z 7 2 B = (42,36, 12, 8),
0o 32 5 6
00 0 1 1 1
a—| 1t 0o 0 1 0 o
01 0 0 1 0
00 1 0 0 1

010001 0136
F (—13 12, —8), 24; 912921 b13 QI)DDDD Eoooo.
b = ): 011022 011023

£ 2
E:Ry; 3 (a,%) — (Ex,En) € PgN (RO OO R?)
e < 36,exn < 12,61 + e > 35,61 + e < 43
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OO00O0oO000OO0o0ODOo.0O0oog? FishersMLEOOOOD
000000000 00o0o0oooO Z(B,Y)DDOO0OOOOO
gooo.

(

0:x00000 104 (00000000, 11.2). x = ) x= 1%

7
Z(3,$) 00000000000,
Q@ 000D000000000000OO0. Fisher DDODDO.

@ Holonomic gradient method (HGM). OO0 00000
holonomic 0000000000 [O].

© Markov chain Monte-Carlo method (MCMC). 0O 00000
gobodboooboboobooobboobooan.

>
m]

>
[m]

[
O

[
O

oooo (oooo) go0o0oboO0OO0O0OO0OOOO0OO0OO0OO0



A(0O0OD0)OOO0O (0O)HGMOOODOO

Z(3,60) O holonomic 0O 0000000 Ha:

d n
6,- — H Saki, Z a,-j9j8j - ﬂj
k=1 j=1

Oooo.ooo S,-:B,"—Mﬁi—l,ai:a%,

Theorem (O O -0 0O, 2009)

rankHa=A00000O0O =:r
rOHGMODOOODODOOO. o

o o0 1 1
A= 1 0 1 0
0o 1 0 1

0000 8, — S3,85 — 53,83 — 515, 84 — 5153
0000 6303 + 0404 — B1,0101 + 0303 — B2, 0202 + 0404 — B3

0o o0 1 1
2DDDDDDDDDD,A:(1 0 1 0).ZDDDDDDDDDDDDDDDD.vol(A):Z,
1 1 1 1

oooo (oooo) go0o0oboO0OO0O0OO0OO0OO0OO0OO0oOO0
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Right Triangular Prism

Use this worksheet to practice finding the Volume an
base, and height using the labeled sliders. Answer tt
to check your work.

height, =10
3 4 3 4
1 2 1 2
hy
0 011
A=11 010 b
1 1 1 1 base=10 height=10
0 0o 0 1 1 1
_ 1 0 0 1 0 0
A - 0 1 0 ©0 1 0
1 1 1 1 1 1
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Pfaffian

5,-:8,-i:1,...,n, 5n+k:5k,k:1,...,d|]|:|D.
al=0eNJt o eNgY i=2,....,r 00000,

5 o 7
5 07

5 o7
oood,
SieY = Q;Y [0O0 Pfaffian
O;jeY = R;Y [0 Pfaffian
000 rxr00 Q(3,6), Ri(B,0) J0000. 0000OO
Pfaffian O O O.

O: HaOO Pfaffian OO OO0DOOOOOCOOODOOOOOOO
O. yang.rr OO,

oooo (oooo) go0o0oboO0OO0O0OO0OOOO0OO0OO0OO0



O,2x2000

O: D=xixa — xox3, B= 01— 02— (3,

1 —Pixixa+33D —xoD
51 _ (B—1)x3 (B-1)x3
X4 B3 —X2

1 —-B —X2
52— ; B3Bxs  Paxixa+B3xax3
1 D D

Z(=0,0)=1 ¢ 0 /000000 1000 d0000OO. B
ooooooooobogo pobboOooo.

Y (ne;,0) = Qi(ne;,0) 1 Qi((n—1)e;,0)71--- Qi(er, 0) "1 Y(0,6)
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HGM O 30000

Q@ 00000 ZzOOOO holonomicOOOOO. OOO
holonomic O O Pfaffian DO OO00. OO0OO0O0O0DOO D-0O
gooooboboooooo.

Q@ UUill0OUbbObuobbobuobobUobbobUob rankdOd
gobooaoboo.

Q2000000 Pfafian OO OODOOODOOODO.

O:rank 0 step30000000O0.

00000000 Pfafflan 0000000: 2x(m+1)000.
Lauricella Fp (mO0)0000. OO Pfaffian 9; — R, 0000
00000 (00, 2013). 8 non-generic 00 0O, OO Pfaffian O
Si— Q000 (OO, Contiguity relations of Lauricella’'s Fp
revisited, arxiv:1412.3256).

2x11 0000 Z000000O0O0O0O.2s00.MCMCDO OO
gooo. 0o oooooooooooooooo. oo, od,
00 (2015).
MCMCOODOOOODOO.MMCOODODOOO. 0OO00O0.
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(CO)HGMOOOOODOOOO

00000 Z=>)x¢/e!00000. 000 e000O0ODO

2x12000000.
ATl I I [ [ [ [ [ [ [ %

-
(292046 || [ [ [ 1 l l l l l l l
[ [ -A+29 | 31 | 62 | 93 | 124 | 155 | 186 | 217 | 248 | 279 | 310 | 341 |

1 1/2 1/3 1/4 1/5 1/6 1/7 1/8 1/9 1/10 1/11 1/12
oo xO 1 { 1 1 1 1 1 1 1 1 1 1

O000o0o0ooo(@Woo)olo6000000O0O. 00000
00((@Qo0O)b0o00 ZzooOOoOoOoDOUOODOODODOO.

A Time Z

50 0.224s 8.162 E-3964

100 0.825s 1.461 E-4026

150 2.111s 1.087 E-4105

200 4.292s 2.171 E-4195

Note that the HGM generates all the normalizing constants for {1,2, ..., —A} and derivatives with these timings.
E(es) oz 1
e:) = xi; il
v Y Ox;; Z

The timing data are taken on a machine with Intel Xeon E5-4650 (2.7GHz) with 256G memory and the computer

algebra system Risa/Asir (20130215) and tk-fd.rr package.
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MCMCOOOODODOO

0: 0000 Markov basis. [[3,0,0,0],[3,3,3,3]],

[[1,1/2,1/3,1/4],[1.1,1,1]]. Eq1

2x(m+1)000000000O00 MCMCO HGMOOOOO
oo.
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HGM O 0O O O : Fisher-Bingham 0O [

d0000 S9r) = {(u1,-,ug1)| S w2 =r2r>0} 00
000000 x5, 00000

d+1
1
w(u; x,y,r)d :mexp E Xjjujuj + E :Yi“i
1<i<j<d+1 i=1

O Fisher-Bingham 00000 (19800000000 AT.A.
Wood D0 O DOOOO). OOO 6 =46(r,u) O

hman@—ﬁéﬁjbDDDDDDDDDDDDDDDD
Z0000OOO0OO0OO00O0000

d+1

ZUJJ%—Awa > xguiui+ > yiui | 8(r,u). (1)

1<i<ji<d+1 i=1

(0, 00000.000,00000)
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0000000000 (1I600)0000O

OO0 |O00O0O0 o0
0 1.570760 | 0.00
Oo0Qg | 1.178070 | 0.00
OO | 0.785380 | 0.24
i OO0 | 0.392690 | 0.24
0 0.000000 | 0.03
OO0 | 5.890349 | 0.12
OO | 5.497659 | 0.03
000 | 5.104969 | 0.00
0 4712279 | 0.02
000 | 4319589 | 0.00
OO | 3.926899 | 0.19
O0Q | 3.534209 | 0.07
Figure: 10D0DOODOD O 3.141519 | 0.03
O0Q | 2.748829 | 0.00
OO | 2.356139 | 0.00
000 | 1.963450 | 0.00

00:00,00,00,00:0000000 FBOOO MLEOO hgd DOOQOOO0E (DDB0),2011-2013.
oooo (oooo) O000DOO000D0OO0OoOOO0ODooOOooon



0000, $200 Fisher-Bingham O 0O O O O fitting

0go:00,00,00,00,0,00, 00, Holonomic Gradient Descent and its Application to Fisher-Bingham

Integral, Advances in Applied Mathematics 47 (2011), 639-658,
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Orthant probability

~ X

Table: Results of HGM
d HGM Exact
7 0.125000000 0.125000000
8 0.111111111 0111111111
9 0.100000000 0.100000000
10 0.090909091 0.090909091
20 0.0476190473 0.0476190476

8 - HSMrsve e ]
Orthant 1] /
Probability [ g § R il
HGM 00000 C e 4w
(0o, o0, Rl
2012))
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Wishart 00000000, 00000000 1k

000000 Prj4y <x], m=10,n=12,
Y1 =diag(1,2,...,10)

12 T T

byhg ——

0.8 [ —

0.6 [ —

04 4

02 B

0g0:00,00,00, 00, Holonomic gradient method for the distribution function of the largest root of a

Wishart matrix, Journal of Multivariate Analysis, 117, (2013) 296-312.
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0000 ‘0000000 o.
HGM O0O00: 00,00,0000 (Pfaffian, 0000, ....),0000000,0000,0000.

OpenXM  hgm |00
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